
Liste 

10; 2; 8; 19; 12; 
16 

Linke Teilliste 

10; 2; 8 

Linke Teilliste 

10 

 10 

Rechte Teilliste 

2; 8 

Linke Teilliste 

2 

Rechte Teilliste 

8 

Rechte Teilliste 

19; 12; 16 

Linke Teilliste 19 

19 

Rechte Teilliste 

12; 16 

Linke Teilliste 12 
Rechte Teilliste 

16 

Nun die einzelnen Basisfälle nur noch „mergen“ (einfädeln) und man erhält 
die Gesamte sortierte Liste G = (2; 8; 10; 12; 16; 19) 



2; 8; 10; 12; 
16; 19 

12; 16; 19 

19 

12; 16 

12 16 

2; 8; 10 

10 

2; 8 

2 8 


